TEST 5,

WRITING TASK 1

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5.0 score. Here is the
examiner’'s comment:

The candidate covers the key features and rounds off the description with an
overview. Organisation is evident, however not wholly logical, and it is sometimes
difficult to relate data to specific age groups. Vocabulary is just about adequate,
but is rather dependent on input material [regular physical activity | percentage]:
original material is limited to e.g. [teenager | mid-twenties] with a lot of inaccuracy
'n word formation. Most sentence forms consist of simple structures and these

are often inaccurate [bars’s changed and interesting | men’s percentage are
increasing | the percentage more decrease until), though there is some accuracy in
comparative forms [is higher thanj.

The bor chark below Shows bhe percentage of Ausktralia men and women n different age
group who did reau\ar phn:)s'l_ca\ achLuLt-:) wn 2010, Ik’s LntereﬁtLr\S to bhe bar chart.

In IS Lo 24, , Auskralion men’s percentage Of dolng regular physical ackiviky s S2.6
oand women’s percar\k.aae s 4-71.71. Compare wikh men and wsomen, mMmen’ S perce.r\haae LS
hLaher Lhon women’s percen‘:,aae. Howsever, bars’s changed and Lnberei—sl:i_na. After 25

Lo b4, men's percentaee are increasing. In 25 ko 34, men's percer\taae LS A2
Besides, In 35S ko 44, the percentage more decrease ontill 39.5.

After over 45 ages A fous ncrease ke 4377, 451 and 4b6. 1.
Houwsever, khe percentaae couldn’t over SO%.

Then, women’s percer\taae&“a are increase unkill S4- age ke S2.5, 3.5, A\thOueh
women’s percentages are decrease after SS ages khe percentages are highef Ehan men’s
parcer\haae.s :

In conclusion, men did fregular physicol ockiviby more Ehan women wshen they were
teenoger and mid Eusenkies.

After mid-tusenkties, howsever, mMmen’' S perc:er\taae oS decreased ond Lomen’ S perc:er\taae
LIOS LNCrease.
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Sample answers for Writing tasks

TEST 5,
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6.0 score. Here is the
examiner’'s comment:

The candidate addresses all parts of the prompt, although there is some
misunderstanding of the term shared freely. Ideas relating to each sector
mentioned in the prompt are presented, yet there is not much development of
these, especially of sharing ideas in the business world. There is a clear overall
progression, with the candidate’s own opinion presented at the end, but there
are some errors in the use of cohesive devices [working there on out of this |
which scientist]. Lexis is mainly appropriate for the task, though there are some
errors in word choice [actual | releases] and spelling [govenment | limite |

theme | loose]. There is a mix of simple and complex sentence forms, with a fair
degree of accuracy: errors in grammatical control seldom prevent meaning from

coming through.

Shm’l.ﬁa nformoakion Ls ackual Lssve n our world where b hos f:‘:bﬁc}f\a Lnfluence on peopie
There ore vorious spheres of our tife where informokion Ls more or less Leporbank for
people working there on ouk of this. For this reagon some people consider bhok ik (s
good ko share informokion while okhers Ehink in opposite way.

For example, pf&f:u.ﬁ&%%ﬁ all scienkbists are 85%&@ Lo shore informabion wikh ordinary people
or Okher scienkist. There s no compekikbion in bhis sphere. Somekbimes Lk s bod for
govenment. which scienkist share the secrekt informakion wikh inkermaktional Spy buk ik

will nok hurt uinformabiLon.

There are some simple rules n academic world which timike informokional sources bekuseen
people. It person (s interested in Eheme discussing wikh gou and you are ready Lo keep
talking khen khe person glves _)Ou ol information whak he knows €or free. On bhe obher
hand, LE Ehe person knows much and he knows khak you can nok gtve him ockuol or

news nformabion bhen he will share informabion wikh you yusk for moned g. For example,
student POy for his tao.mc_na while two skudents con coopefate and share informokion
~wikh each okher. Ik is obviously kthok sharma informokion in business world can Followes
by releases. There is large competa_&,t.m and itk ALY takes much costs for conmpanies. :
- Compoanies loose bheir profik every doy because some one con nok keep silence especially

1T CC}MPQF\LQ5

To sum up all above itk s neccessery Lo Sy thakt there are some spheres in which
shaana informakion LS a crime. In My OPLNLON, LN Mony cases nformokion con be Eoo

Lrportank of sharing ok all.
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Sample answers for Writing tasks

TEST 6,

NG TASK 1

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7.0 score. Here is the
examiner's comment:

The candidate covers all the key features and presents a clear overview of the
developments planned. Information and ideas are logically organised and there is

a clear progression throughout the response. A range of cohesive devices is used
flexibly [currently | Overall | First of all | therefore | Moreover | The next point | To
sum up]. Lexical choice shows flexibility and precision, and includes less common
items [modifications | predicting | grouped in a shopping mall], though there Is some
inappropriate word choice [deserves]. A range of grammatical structures is used
flexibly and accurately and error-free sentences are frequent.

The tuwo mops of khe cenkre of khe kowns of Islip glve unformabion abouk Ehe CLEB

currer\t\t) and e €Fubure. Owverolly, o ok of modi_&-c:w:.i_or\s con be Observed dur i_ﬁa the
forecost development .

Firek of ol according Lo bhe currenk map the cenkre s close Lo o c:OumE;rBﬁ-';Lde. A man
rood deserves houses, o Schooly, Several Shops and o pork.

Looking more closely ok Ehe mop predicking khe fokure development of kthe ciky, a lob
of modificobions can be observed. The size of khe cenkre will increase in an oval Shope,
tLherefore the c:c:)ur\tri_)f‘pi._de Wil disoppear. Moreover, the 5Lr\6\e rood will be replaced by a
bLeaer dual ccxrri_cxgemou_.). A pedeskrion WSOy will deserve khe cenkral area. New houses woill
be bulll wikbh new focuities such a5 o bus stoakilon and a pQrKLr\S. The shops will be
grouped Ln a Shopping moll. The nexk poink 15 the garden orea which will be Smaller. As
bhe ciby wil have more people the school will be blgger.

To sum up, bebuween the ackual mop of Islip bown cenkre and the fobure planned
development., o lokb of modifLcobions are predicked. On kthe one hand khe c:i_tt) Lol
be bigger wikh more focilibies. On bhe obher hand Ehe park will be reduced and khe
counkryside wsill disoppeor. The cikby will have changed o) 8reat dea\.
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Sample answers for Writing tasks

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5.0 score. Here is the
examiner's comment:

The response looks at some advantages and disadvantages of the topic, but

does not reach any conclusion. As a result, there is a lack of overall progression,
although organisation is evident and cohesive devices are used (though rather
mechanically) [One of advantages | For example | Also | Another disadvantage |
For instance]. The range of lexis is adequate for the task, however there are often
spelling mistakes [contries | yonge | quilified] and errors in word choice or formation
[chancing to improve | unemployee problem]. There are attempts to produce
‘complex sentence forms, but there is a lack of grammatical control which can

cause some difficulty for the reader [... due to some countries limit the population, if

that have more young children it will over limit].

NM&&B@@ the people of some counkries bhobk have khe young people more bthon bhe old
people. Sorme people bhinks when bheir conkries hove bhe yonge people more tLhaon Ehe old
people il be good because Ehob could increases bhe coputobion n Ehe fobure. Anckler
people Ehinks ik not good due €O some counkries lumik the populakion, Lf bhok have
rMore young chiddren, Ltk will over lumik. This esSsoy will discuss the advanhaaaﬁ ond

gﬁ@ﬁ@@%@@ﬁh@g@ﬁ about Ln Some counkries hove bEhe young people more Ehon Ehe old pe ople.

One of odvankages is ncreosing the populokion. In some countries support bhe fomily
o have more children because thok con increases bhe populakion in bhe fukure. For
example, in Singapore, Philiphine and so on. Whot s more chancing ko Lmprove the
educakions as when khey have a lok of young Se.nerqti,om Ehe Sovemmar\t could Lmprove
a good educokion. Also, (:he_:) can develop the sx_,)stem5 include Ehe cLuLlL&ed teoachers, bhe

Saad atmoaphef‘ e.

One of disodvontages s khe place for skudy. If the young generokion skill a ok, Ehe
school will nok enmah for the 5%.\.@5, Ehe Sovemmanh should conskruck more schoot.

- Also, when _(:he.B._.lwwe, Ehe news schools, Ehe beocher wiM nokb er\(:)uah to keach Ehem. The
universiby should 8@&, more skudenk ko skudy abouk (:_e.c:\c:tha educakion.

Ancther disadvontages ts the qualiby of education. I Ehe mony students learn in khe
clossroom, the teachers con nok koke core oll. For instance, when khey have o problem Ehey
will need some help from the teachers. Furkhermore, when they grows upy khe unemployee
problem witl hoppen because the company con nok receive everybody ko gek a job.

In conclusion, in some countries bhob hove Ehe young populakion more Ehon khe old
populakion, the aovarwr\&, Should monage Ehe educokion ssshem . Moreover, (:.ma should
prepare the ploans for sloving unemployee problems which can hoppen in bhe fokure.
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Sample answers for Writing tasks

TEST 7, WRITING TASK 1

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6.5 score. Here is the
examiner's comment:

The candidate organises the information well and describes the trends in the
various groups, but the lack of data to support the descriptions is a significant
omission. There is a clear progression throughout the response, with good
management of cohesive devices [percentage of people who | during the same
period | in these segments of the chart | the groups in which | such facilities]. Lexis
shows some flexibility and precision [on a weekly basis] and there is evidence of
less common items [segments | major changes | most of the population | most/
least popular | with the exception of], with few errors in word choice [visualises | be
| clients]. There is a variety of complex structures used with flexibility and accuracy,
but there are also a few errors in grammatical control and in punctuation.

The chork visualises how often bhe US citizens be ok fask-food restouronks in the
Years 2003, 200D ond 2015,

From 2003 to 200k khe percentaae of people who have never eoten ak o fask food
reskaurant hos follen by 176, buk on the other hand during the Some period the number
of clienks who eak fast food everyday has also fallen Lo abouk 3% of bhe populabion.
Since 2000, no okher chcmaefs have Occurred un these 5e8mer\t:‘5 of the chart.

The mojor changes con be Seen in khe groupS, who eab in a fosk—food resktouvronkt on a
weekly basis (once or several bimes o week) ond in khe groups N wahich people visik bhe
fosk ~food reskavrants once or kuwice a monkh or once a few monkhs. While in 2006
mosk of bhe US cibizens ake ok such focuibies ok least once o wseek, in 2O most
of khe populotion did S0 Only oOnce Of Lusice o monkh. Ik's clear Ehabt bhe fast—food
reskouranks were most popular in 2006 and least popular in 2015, However Ehe number
of people who eok in Such reskavranks only o fews kimes every yeor didn’t change..

As o whole, wikh Ehe excepkion of people who rovely Of never eok fost food ond n
addibion, Ehe small park of bhe populabion who eak every dag, bhe peok of going ko
fook ~food restouranks was reached in 2006 in conkrast wikh 2013 when mosk of khe
copulabion spent kime in khem only once or kuwice a monkh.
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Sample answers for Writing tasks

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7.5 score. Here is the
examiner's comment:

This is a good response which would achieve an even higher score if there was
more focus on large sums of money and on between cities. The writing is well
organised and there is a clear progression throughout, although the use of some
cohesive devices could be more flexible. There is a wide range of vocabulary,
used appropriately and naturally, [preferred method of transportation | leave the
driving to the professional | more affordable | ever-expanding urban populations |
embrace the idea of], but some spelling errors are noted [Communters | whill | cheif
| ammount | busses]. There is a wide range of structures and again, these are used
flexibly, however there are occasional errors in punctuation.

For many people around the world, the preferred method of tronsportaokion s hi.ahﬂsme.d
roil. Cormmunkers Uweuma Lo ond from work rely on Ehe safeby ond e@ﬁci.eﬁcﬂq L
courisks opprecioke the convenience and novelby bhok trains provide. Obhers believe bhak
hiwghm&gﬁg busSes and regular troins should be tmproved before neuss hLShﬂam@d nes ore
oddea.

Safety 5 chelt OrOoNg ConCerns for bhose who bravel Lo work or schoot on o reguloy
basis., LE one drives o cor, they hove £O concentroke on khe rood not only £o avold
accidenks buk also ko prevent other drivers ¢rom cousing o problem on Ehe rood. HLSP\*
speed roil ollows bhe communker Lo leave bhe ariving Lo khe professional car\{:m\l%.na the
Eroing allowsing Ehem kO 8@1& some work done while 8@&!:%.&8 Lo work safely.

In oddition, people ktend ko move furkher and furbher away from ciby centres; where land
and houses are more affordoble. High-speed rall ollows khese commukers ko kravel greaker
disktonces in o shorker ammount of kime. There 1s o fAow-on effect here, becouse € e
con reduce khe number of cors on khe roods we con also cuk down on kraffic joms and

road deloys.

© On khe obher hond, high-speed kroins ore expensive, ond some believe khis money could
be spend on repairing motoruoys which are used by cars, busses and mokorcycles.
Another possibiliby would be Lo use Ehis money ko bulld more regular commonter krains
ond busses kO service the ever—expanding urbon populakions. Moreover, books and ferries
could beneflt from a budgek which focuses more on exisking forms of kronsport.

In Ehe end, public transport s on Lssve which affecks uvs oll. The kaxes which we
poy should be spent on khe kype of kranspork which will have bhe most benefik ko

oll clbizens. In oddieions we need L0 toke nko account hous much the environment s
damaged by fossll fuels and pollukion. therefore, I believe in order Lo move forwsard, wse
need Lo embrace khe ideq of high-speed rall so thaok €uture aenaraf:.i.ons con conkinue ko

\Lve stalB oand e@ﬁcl_er\(:lﬁ.
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Sample answers for Writing tasks

TEST 8,

WRITING TASK 1

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6.0 score. Here is the
examiner's comment:

The candidate has provided a clear introduction and an overview of the key

stages of the process. Each stage is identified and described, although there are
some minor errors in the reporting of stage 5. There is room for expansion of the
description of each stage, which could help to achieve a higher score. There Is a
clear overall progression, with each stage being signalled by appropriate markers
[First | in order to | After that | At this point | Then, the final step | Finally]. These
markers are adequate, but a higher score might be achieved by varying their
position in each sentence, rather than always placing them at the beginning. The
range of vocabulary is adequate for the task and there are attempts to use more
variety here [five general steps | connected | accumulated], though there are

some examples of error in word choice [box / tank | a circle movements / a circular
movement], in spelling [undergrownd | trough | conteiner | sumary] and in word
formation [condensered | condensed | gas / gaseous | trasladated / transferred? |
condensering | condensing]. There is a mix of simple and complex sentence forms,
including accurate use of passive forms. There are some errors [a/ an | who /
what], but otherwise the level of accuracy is good. The same level of accuracy, over
a wider range of sentence forms, would increase the score on Grammatical Range
and Accuracy.

The dLaSram ShoWS howo ele.c:l:ri_ci_ta LS produced by Seothermc\\ enerqyy. There are &ve

Sene_rc:\\ skeps n Ehis process. Fusk, uin o bLS bhox. connecked ur\derarc:.mr\d. cold waker s

accumulobed Ln order L0 be pumped down abouvk 4.5 Km,

After thak, woker s heated passing krough hok rocks colled Geokhermol zone and Lk

LS pumped vp Ln Order Lo be condensered un o bLS conkeiner. AL Ehis poink, waker LS n

a gos stoke ond itk 5 puk in a kurbine which moves b tn a circle movemenks. Then,

Lhe final step s ko use o Senerator n order Lo woter be powered ond energy con be

produced. FLna\\B energy LS krosladoted Lo o energy Eowser.

In SUMANYy E e Seohharmal power plank LS uSed ko creoke energy N some Skeps:

hea&,i_ne cold waotber bl__j o ae.ohhermc\l zO0ne ond conder\i—‘:eri_ne Lt in order Lo puk b n o

aeﬁerator turbine which LS who produces the energy €O be used.
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Sample answers for Writing tasks

TEST 8§
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 5.0 score. Here is the
examiner's comment:

This is an attempt to address the prompt and some main ideas are put forward,
but there is no discussion of is likely to result in a society of individuals who
only think about their own wishes. This omission, and the fact that the response
IS underlength, limit the Band score rating. Organisation is evident, however the
answer lacks contextualisation, and cohesion within sentences is sometimes
faulty [that is cause many African children to ... | they will show respect to their

ad community in is general]. Vocabulary is the strongest aspect of the response
[confident | make mistakes | dictate | the right path | do something wrong | manage
their affairs | vandals and aggressors | determine their own choices | show respect
| oppressed | respect children | justify] and although spelling errors occur, they do
not generally prevent meaning from coming through [becouse | tought | smagging].
Grammatical control is variable: some complex structures are produced accurately
while other, simpler, forms contain errors. Punctuation and capitalisation are also
sometimes faulty.

Lt s good £0 show children lving a freedom evironmenk, becouse ik could help children ko
grows skronger and confudent. Buk b depends on bhe oge of the child, forexomple o likkle
children con nok choose clobhes ond they olso like Lo eob sSuwseebs oll bhe kime.

When Ehe children (5 free ko their choices they could moake mistokes so parents should
nok dickate children whok woank, buk guide Lo the right pokh. forexample mosk parents
n weskemn world beach bheiur children arguing rother thon smMagaing when they do
‘:—:»Ome.(:_hi._na wrong. When children are E.Ouahb Lo do khelr own cholce could easily rManage

thelr affairs, when grow up.

children moy sometimes give a good oplnion, SO thak ik s good Lo understond rokher
Elhon up@ah!:.'u*\a Elhem., Many porents In Africa do nok believe of lisken children, Lhok is
-couse mMany. Africon children become vondols and aaaraﬁsofe Loward Ehe communi..tt.).

Lf we Eeach our youngers Lo dekermine their own choices, khey will show respect ko
~ Eheir ad communiby in S general because they never fele oppressed ond they would not

boklher &0 any wahen th@.&) Set older.

over oll. when we Wsken our children bhobk we moke Ehelr €ubure p@rﬁc}r\q\Ltﬂ bebkter.
parents should respeck children. Same lke adules. When kthe parenks ErB Lo refuse chiddren
%mehh{.ﬁa Eheﬂ should jUSELgt) Lo Ehem wht__) th@.ﬁ refused ex.plaln Lo Ehem Ehe reasons.
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